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What is the danger if your hair

suddenly stands up?



http://www.nationalparkreservations.com/california_map.htm
http://cy.wikipedia.org/wiki/Delwedd:GiantForest.jpg
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" Foand F,are
mathematically identical

= k. IS a conservative
force
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= U, depends on g, but V, does not
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= Four Equipotential Surfaces




FIGURE 23.22 CONTOUR LINES, CURVES OF CONSTANT ELEVATION
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= E.S. for a uniform field, a point
charge, and an electric dipole




= The differential
work done by F
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(a) Along path (a)
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V, -V :—jif E-d§:—_[if E (cos 0)ds

:_jifEds=—Ejifds=—Ed
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* The principle of superposition




gx2\J and g, for 12 electrons

(a) on a circle

(b) ON an arc
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B8 p= 94
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Ag, I Ag, T

2
(r—r.~dcosé, rr=r-)
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Induced Dipole Moment

o BA&HIBIE
o &1k ( polarization)




A2 0 F IR

Bond broken

T by rotation —,
Positive side .

Hydrogen e
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" ™ Rotation due
to torque

e

Negative side




I 3-8 Polayization ({é ﬁ)

® Dolarized Light

® T he Plane of Polarization

® Linear, Circnlar and glliptical
polarization



http://www.youtube.com/watch?v=oDwqUgDFe94
http://www.youtube.com/watch?v=J4FEKWuXp1U

Incident light ray
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" Polarizing sheet - 13
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Vertically polarized light
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Line of Charge

dqg = Adx,
1 dg 1

dV = = > >
Adre, ¥ 4drne, (X°+d

)1/2




:J-L 1 AdX
0 4rze, (X* +d?)Y?
A J‘L dx

0 (X2+d2)1/2

vzjdv

4 e,

= A [iIn(x+ (x? +d?)2];
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vV — A In L+ (L"+d°) ]
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Charged Disk




dg = o (22R")(dR")
1 dg 1 o(22R")(dR’)

dV =

As, v Ame, (z%+R?)Y?

V. :J‘dv _ o J'R R'dR’ /

250 0 (22+Rr2)1/2
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* The work done by the
electric field

dW = —q,dV = q,E(cos 8)ds

Ec:osé?z—d—v—>ES _ N

ds s
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L 311 The gradient
operntor 1R AR F




The Laplacian sperator




[ The Laglace £ynation
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separation of variaples
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A bonndary value protlem




¢£x.3 The charged disk
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» For charges g, and g,




Ex.4 An alpha particle and a gold
nucleus

-4 ¢ ]

Alpha
particle

Gold
nucleus

1 (2e)(79e)
Are, 9.23fm

K=U 5> K =

= 24.6 Mev




3-73 Potential of a charged isolated
conductor
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(equipotentall surface)




Discharge




Plots of E (r) and V(r)




Calculating electric potential
Example 23.8 A charged conducting sphere

I/surface = surfaceR
|/max = EmaxR

eqg. £, =3x10°V/m

If R=1cm V/._ = 30,000V
If R=2m V. =6MV
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